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On the meat — awan oy

OVERVIEW

The X&n»12 states that the y°X is 17X (forgives the sin) for the meat (of a j27pP)
which became Xnv.' There is a dispute whether we may sprinkle the blood of a 127p
on the mam if the meat of the 1277 is not available.? 21v°>X " maintains d"YX 07 @
w2 PR (we sprinkle the blood), while YW 3> ' maintains 27 PPX w2 X ok (we do
not sprinkle the blood). There is a dispute between >"w7 and moon, whether this
Xn»72 can follow the view of X'"1.
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In 9% 73 p9p the X3 asks, according to @' who maintains 5'"yx 27 w»

2 PRW; when the Xn»721 states that -
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The y°% is 7392 on the foodstuff (the 7w2), in regards to which law will it apply;
the X3 there answered that the y°%¥7 "™ accomplishes to establish it for %2
and to remove the T2 from the liability of 792 -
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And not like "29 who explained that the Xn>72 only follows the ruling of >''=;
it is not so it can even follow the view of X"-.

SUMMARY

! All agree that even though the 7% is 7% on the Xnvaw w3, nevertheless it is forbidden to eat this 7w3. The g™
77X must be concerning other matters.
* It was destroyed, lost or left the 77y.
* What relevance is there that the 7°¥ is 7% on the w3, even if the ¥ is not 7% (and even if there is no w3 at all)
they would still sprinkle the blood. According to *"7 who maintains 07 X w2 PX OR, it is understood what the "1¥™
7°X17 accomplishes, for were it not for the y°%i7 "1¥*7 we would not be P17 the o7, for since the w2 is K1Y it is like it
was destroyed, etc. The "1¥°1 accomplishes that there is w2 and we can be 777 the o7.
* Y30 means that the 1715 while doing the 7may (for instance he received the o7 in a *73) had in mind that he would do
the required service (077 np>1) at a later date (1% yn). The 1297 then becomes 2130 and if one eats this 1277 he is
N1 21, There is one qualification to this rule, that the only 9109 in the 1277 is the 913°5; all other aspects of this 127
were done properly. In this case where the 7w2 became Xnv (after the 77v°nw), one may have thought that there cannot
be a 90 17 since there is a 9109 in the 1277 (besides the 713°0). The law of %77 7% teaches us that this Xm0 is not
considered a 7100 regarding 2135 and the laws of 213 apply.
> 79°vn is the prohibition to derive any benefit from w7pn. Regarding 2w7p *w1p, once there is o771 NP> the w3 is
permitted to be eaten (by the 0°1713) so there is no longer any w322 77°vn. Here however since the 1wa is Xnv, we may
have thought since there was never a 017137 2n°7 NYW (it is TIOK to eat WHLIW DW7p) therefore the 72°¥n 211 remains.
The rule of 7877 X7 is that there is no 79°v» 21 for this XA W1 after 277 NP>I.
% See "w (here) 0771 ¥ 7"7. See “Thinking it over’.
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The Xn»12 of "Wwan ¥ 787 v°%7 can be regarding 73°5 and 77°v», and follow even
the view of X"

THINKING IT OVER
How can we somehow understand *"w,” who is seemingly going against a X723
nwon?!

7 See footnote # 6.
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